Re@l: in bt chs, we stubial which Pﬁm@s Com e
wniken Q@s o‘\: S Ums 6f Two sctnwe;, e

D= @tk b
Amswer : A Pr\mst Con be writlen 45 a swnm & two
SC(V\M"QS I'S: DI\A ovJ\/j I\JC P_ﬂ DY Fflw‘l‘)

La "Wbl("]'s (s, we S-LVJAj}
Which ?v\iﬂjezfs (o b writken as  sums jf o 5‘(«4%257
D@](\m;'ﬁm\: Lot M be on eheper. I S Mjﬁ& ’jt

tha {)ﬁme o(cwm?vs?ttvw "JE n fs eje e orm
ne PI P - P”

with P; dlistinet

EXW"?LQ. Do lX= D2 3 ot STWﬁ‘Q
|5 = 3-h STMQT“UL'
DLS@A‘YGO\}OY\: fﬁf D‘M;] ‘)r\'ije/r )’L) n (o A_Q wnitea ,\,\

tha Aorm N
n= n, N,



wth o, wolp odd wd P, - fs oven.
( We jus’c noed YRASTH R Pha Fﬁn«z Pom>

Thom n,= P| Py -~ {)I‘
@i AL g A
I,= Pll Pz Fr [ll 7/5

We co- C/WJL: =N~ ﬂi :



Somgines, Wwe Gl N the Huorfre part £ n

Theoem: Let N be oa }rd?i"fo Ne write - rl,i’\ll
wth  py =P P et Sclv\amfrszm.
Than n,w}&wr?bteno\ssm&fwscim
it od oy f ek piis 2 or 34 (med4)

EXD""PCL: HP=15 2 N=15=3D
3% 1 wdt)
S )5 cwml be writlen 0 sum.s&f Buo Sqhes
2 N=45=53 3 n=%

b= 4 (wd4)
S 05 (m b wilkR a5 sumsof Ao Sfuaes

B= 6135
To prowe do Yooom, we fwe two pots;
lot W be ow eRSer wd M= D= P 2
b 1’& fl=Atb ]cbr s Qb 7,
tow @osh e of P Pp



othr 2 or wjmwt % 4 (med ).
) lf Qah Pf\m P~ P ds ther 2 or =1 W@,

thon YL:0\1.|.L> -f-o‘a Sumg_ a,bbz.

Obﬁp/rvoot‘m\: B\a U\Q tons truction 6‘? n= n[’\?.

P)ﬂ\ = 070‘])(1\) ‘o o edd Mimbe s

TMED'Q/ ) is swd\nrg tpok? lg)t VL=0.1-|-$1 V\,.‘tll Q,sz.
if omQP(n) s odd, ten P 3 (wod &)
Topee by, i siffios to pow s hgw  selemendt.
Pm% 4 WA Pmof \93 Corctr i ctlons
\-Qx L \)Q o \M,Qﬁen SWA '\'}Ofk

dy N= 03'-\- [)2 w‘\"tl\ b b €2

(i) we ow fid o pime p cwh ot
O‘AFU\) s odo{ M PEB(MOO\‘]-)
Sime o‘m\\)ln\ s odd PIV\ Thon
o atb=o (fmfx,))

 gedlapsd, o
P= Mf’) ool s aQR



s s ()= (F)= 1
This s w?vss'ufl $Ima_ p=3 (rod f)
Tku-fu\e P} n o N b

Te we = (B4G)) > 7

DL N L 2
We thon kot ot~ < (V4(3)

17 P*r’?‘z , thon oy (0> A podrodictin,
1{‘ P,'ﬂr?, we YW\“l:}LQ Dﬁum ﬁ&:vx

) 2 R
4w s (R
We (om a’/ww(]s Gorchd MADUS Thas JMQSS
ordh 'f/wut] we Show orAPU) s oven. A iedct]
a.

n.

M ‘Dﬁ Po:k. (2 We }mwz. 2) e ‘l%”hw‘ug s‘\:?,fs:
Gop 1 Lex Py Bo be o pires bobg 2 or 1 (mod +)
Thon P|P> ':01“"\\)1 ‘l;’f somg a,b(:Z.

Rocald :  for X.‘j,a,we—ﬂQ , )
(Xlﬂ'k]L}(Zl"'mL) — (xZ\-aW) +<xw-(\j§)

by th choia ot P, D P= ot b
?.\.-"- Q:"‘ b:«/



Thon PlPx':(a\l"' bll)( ﬁﬁb:)
= (a\ar\' [nlu)l + (OILL" G,LJL
m Lot n= P Pr b STWT&& ord
Quh P ds L e 1lowol4)  Thon =0t
for Sone nbeZ
P\ﬁﬁf )’3 l\/JMﬁk'\ (94 _[

Ggpli: Lex M= MEe Do Do with P,y
we dor A Dwd® Thea N=0%b" for sone abel.

by sep I, M= 00Hy  froomoabe2
n= (akt b)-m
= () + @,Mx A



